
Page | 1 

One-Meter & Three-Meter Main Supports 

Product # Name Includes Additional Information 

3M450 
Three-Meter 
Main Support 

Assembly 

(1) Three-Meter Main Support (pre-assembled)
(3) SF108 Fulcrum Box Bolts, Double Washers & Nuts
(2) 1/32” Round Shims
(2) 1/16” Round Shims
(1) MP105 Buff Touch-Up Kit
(1) PM211 Bolt Lubricant

Deck Mount Hardware: 
(4) SF125 2" Deck Installation Bolts
(4) SF138 5/8" Deck Installation Washers
(4) SF139 3/4" Deck Installation Washers
(1) MP108-S-1/2 Half Square Shim Set
(1) AD110 Threadlocker

Requires Production 
Questionnaire 

The Three-Meter Main Support is 
manufactured in 3 different heights 
to accommodate deck level to water 

level dimensions of 0” to 13”. 

1M450 
One-Meter Main 

Support 
Assembly 

(1) One-Meter Main Support (pre-assembled)
(3) SF108 Fulcrum Box Bolts, Double Washers & Nuts
(1) MP105 Buff Touch-Up Kit
(1) PM211 Bolt Lubricant

Deck Mount Hardware: 
(4) SF125 2" Deck Installation Bolts
(4) SF138 5/8" Deck Installation Washers
(4) SF139 3/4" Deck Installation Washers
(1) MP108-S-1/2 Half Square Shim Set
(1) AD110 Threadlocker

Requires Production 
Questionnaire 

The One-Meter Main Support is 
manufactured in 5 different heights 
to accommodate deck level to water 

level dimensions of 0” to 13”. 

Fulcrum Boxes 

Product # Name Includes Additional Information 

FB550 

Fulcrum Box (for 
stands with 

Duraflex 
Handrails), 

Fulcrum 
Assembly & 
Deck Mount 
Hardware 

(1) Fulcrum Box (with pre-drilled holes for mounting rail supports)
(2) C208 Tracks (pre-installed)
(1) R510L Footwheel with Long Roller
(1) 522 Tie Plate
(2) 517 Roller Block Assemblies
(1) PM110 Grease Gun
(1) PM111 Grease
(22) SF105 Multi-Purpose Stand Assembly Bolts & Nuts
(2) SF106 Hinge Bolts & Nuts (to be used in place of the SF105 if 
a longer bolt is required due to a thicker rail support casting) 
(1) MP105 Buff Touch-Up Kit
(1) PM211 Bolt Lubricant

Deck Mount Hardware: 
(3) SF127 2 ½” Deck Installation Bolts
(3) SF138 5/8" Deck Installation Washers
(3) SF139 3/4" Deck Installation Washers
(1) MP107-R-1/2 Half Round Shim Set
(1) AD110 Threadlocker

FB550 is Available in Limited Quantity. 
Subject to be discontinued. 

Previously R550 
Used for SSWR Short Stands (with 

Duraflex Handrails). 

FB551 

Fulcrum Box (for 
stands with 

Duraflex 
Handrails), 

Fulcrum 
Assembly & 

Main Support 
Mount Hardware 

(1) Fulcrum Box (with pre-drilled holes for mounting rail supports)
(2) C208 Tracks (pre-installed)
(1) R510L Footwheel with Long Roller
(1) 522 Tie Plate
(2) 517 Roller Block Assemblies
(1) PM110 Grease Gun
(1) PM111 Grease
 (22) SF105 Multi-Purpose Stand Assembly Bolts & Nuts
(2) SF106 Hinge Bolts & Nuts (to be used in place of the SF105 if 
a longer bolt is required due to a thicker rail support casting) 
(1) MP105 Buff Touch-Up Kit
(1) PM211 Bolt Lubricant

Main Support Mount Hardware: 
(3) SF108 Fulcrum Box Bolts, Double Washers & Nuts 

Used for 1M One-Meter or 3M 
Three-Meter Stands. 



Page | 2 
 

FB554 

Fulcrum Box, 
Fulcrum 

Assembly & 
Deck Mount 
Hardware 

(1) Fulcrum Box 
(2) C208 Tracks (pre-installed) 
(1) R510S Footwheel with Short Roller 
(1) 522 Tie Plate 
(2) 517 Roller Block Assemblies 
(1) PM110 Grease Gun 
(1) PM111 Grease 
 
Deck Mount Hardware: 
(3) SF127 2 ½” Deck Installation Bolts 
(3) SF138 5/8" Deck Installation Washers 
(3) SF139 3/4" Deck Installation Washers 
(1) MP107-R-1/2 Half Round Shim Set 
(1) AD110 Threadlocker 
 
FB554 is Available in Limited Quantity. 
Subject to be discontinued.   

 
Previously R554 

Used for SSNR Short Stands. 

FB400 

Fulcrum Box (for 
stands with 

Duraflex 
Handrails) & 
Deck Mount 
Hardware 

 
(1) Fulcrum Box (with pre-drilled holes for mounting rail supports) 
(2) C208 Tracks (pre-installed) 
(22) SF105 Multi-Purpose Stand Assembly Bolts & Nuts 
(2) SF106 Hinge Bolts & Nuts (to be used in place of the SF105 if 
a longer bolt is required due to a thicker rail support casting) 
(1) MP105 Buff Touch-Up Kit 
(1) PM211 Bolt Lubricant 
 
Deck Mount Hardware: 
(3) SF127 2 ½” Deck Installation Bolts 
(3) SF138 5/8" Deck Installation Washers 
(3) SF139 3/4" Deck Installation Washers 
(1) MP107-R-1/2 Half Round Shim Set 
(1) AD110 Threadlocker 
  

 
Previously SB400 

Used for SSWR Short Stands (with 
Duraflex Handrails). 

FB401 

Fulcrum Box (for 
stands with 

Duraflex 
Handrails) & 
Main Support 

Mount Hardware 

(1) Fulcrum Box (with pre-drilled holes for mounting rail supports) 
(2) C208 Tracks (pre-installed) 
(22) SF105 Multi-Purpose Stand Assembly Bolts & Nuts 
(2) SF106 Hinge Bolts & Nuts (to be used in place of the SF105 if 
a longer bolt is required due to a thicker rail support casting) 
(1) MP105 Buff Touch-Up Kit 
(1) PM211 Bolt Lubricant 
 
Main Support Mount Hardware: 
(3) SF108 Fulcrum Box Bolts, Double Washers & Nuts 

 
Used for 1M One-Meter or 3M 

Three-Meter Stands. 

FB404 
Fulcrum Box & 

Deck Mount 
Hardware 

(1) Fulcrum Box  
(2) C208 Tracks (pre-installed) 
 
Deck Mount Hardware: 
(3) SF127 2 ½” Deck Installation Bolts 
(3) SF138 5/8" Deck Installation Washers 
(3) SF139 3/4" Deck Installation Washers 
(1) MP107-R-1/2 Half Round Shim Set 
(1) AD110 Threadlocker 
 
FB404 is Available in Limited Quantity. 
Subject to be discontinued.  
  

 
Previously SB404 

Used for SSNR Short Stands. 

HK211 Fulcrum Box 
Hardware Kit 

(3) SF108 Fulcrum Box Bolts, Double Washers & Nuts 
(1) PM211 Bolt Lubricant 

Used to attach the Fulcrum Box to 
the Main Support on One-Meter and 

Three-Meter Stands. 

SF108 Fulcrum Box 
Bolt 

(1) 5/8" x 3" aluminum hex head bolt 
(2) 5/8" aluminum flat washers 
(1) 5/8" finished aluminum nut 

Used to attach the Fulcrum Box to 
the Main Support on One-Meter and 

Three-Meter Stands. 
 

(3) required per Fulcrum Box. 
 

We recommend ordering a PM211 
Lubricant for Bolts for installation. 

 
 
 
 
 
 
 
 
 
 
  

    



Page | 3 

Fulcrum Parts 

Product # Name Includes Additional Information 

FP500L 
Fulcrum Parts 
Kit with Long 

Roller 

(1) R510L Footwheel with Long Roller
(1) 522 Tie Plate
(2) 517 Roller Block Assemblies
(1) PM110 Grease Gun
(1) PM111 Grease 

Used on stands with Duraflex 
handrails. 

FP500S 
Fulcrum Parts 
Kit with Short 

Roller 

(1) R510S Footwheel with Short Roller
(1) 522 Tie Plate
(2) 517 Roller Block Assemblies
(1) PM110 Grease Gun
(1) PM111 Grease 

Used on stands without Duraflex 
handrails. 

R510L Footwheel with 
Long Roller 

(1) Footwheel attached to (1) Long Roller
(1) 532 Expansion Pin (pre-installed)

Used on stands with Duraflex 
handrails. Footwheel and roller are 

not sold separately. 

R510S Footwheel with 
Short Roller 

(1) Footwheel attached to (1) Short Roller
(1) 532 Expansion Pin (pre-installed)

Used on stands without Duraflex 
handrails. Footwheel and roller are 

not sold separately. 

HK204 Fulcrum 
Hardware Kit 

(1) 522 Tie Plate
(2) 517 Roller Block Assemblies
(1) PM110 Grease Gun
(1) PM111 Grease

Kit includes everything needed to 
repair a Fulcrum Assembly 

(excluding the Footwheel & Roller). 

The 530 Zerk Fitting of the Roller 
Block Assembly should be lubricated 

every two-weeks with PM111 
Grease, applied with a PM110 

Grease Gun.  

517 Roller Block 
Assembly 

(1) Roller Block
(1) 518 Slide Bearing
(1) 515 Rubber Bumper
(1) 516 Anti-Rattle Clamp
(1) 521 Roller Clamp
(1) 524 Roller Bearing
(2) 526 Tie Plate Bolts, Washers & Nuts 
(2) 533 Roller Clamp Studs & Lock Nuts 
(1) 528 Anti-Rattle Bolt & Lock Nut
(1) 530 Zerk Fitting

The 530 Zerk Fitting of the Roller 
Block Assembly should be lubricated 

every two-weeks with PM111 
Grease, applied with a PM110 

Grease Gun. 

(2) required per Fulcrum Assembly.

Roller Block not sold separately. 

HK205 Roller Block 
Repair Kit 

(1) 518 Slide Bearing
(1) 515 Rubber Bumper
(1) 516 Anti-Rattle Clamp
(1) 521 Roller Clamp
(1) 524 Roller Bearing
(2) 526 Tie Plate Bolts, Washers & Nuts 
(2) 533 Roller Clamp Studs & Lock Nuts 
(1) 528 Anti-Rattle Bolt & Lock Nut 

Kit includes everything needed to 
repair a Roller Block (excluding the 

Zerk Fitting). 

The 530 Zerk Fitting of the Roller 
Block Assembly should be lubricated 

every two-weeks with PM111 
Grease, applied with a PM110 

Grease Gun. 

522 Tie Plate (1) aluminum Tie Plate
(4) 526 Tie Plate Bolts, Washers & Nuts (1) required per Fulcrum Assembly.

HK206 Track Kit 
(2) aluminum Tracks
(11) 529 Track Bolts
(1) PM211 Bolt Lubricant

Kit includes everything needed to 
attach (2) Tracks to a Fulcrum Box. 
(10) 529 Track Bolts are required for
installation. (1) additional is included.

C208 Track 
(1) aluminum Track
(6) 529 Track Bolts
(1) PM211 Bolt Lubricant

Previously C208A 
(5) 529 Track Bolts are required for

installation. (1) additional is included.
(2) Tracks required per Fulcrum Box.

515 Rubber Bumper (1) Rubber Bumper (1) required per Roller Block.

516 Anti-Rattle 
Clamp (1) aluminum Anti-Rattle Clamp (1) required per Roller Block.

518 Slide Bearing (1) plastic Slide Bearing (1) required per Roller Block.

521 Roller Clamp (1) aluminum Roller Clamp (1) required per Roller Block.

524 Roller Bearing (1) plastic Roller Bearing (1) required per Roller Block.

PM110 Grease Gun (1) Grease Gun

Used with PM111 Grease to 
lubricate the 530 Zerk Fitting of the 
517 Roller Block Assembly. Roller 
Blocks should be lubricated every 

two-weeks. 

PM111 Grease (1) QuickSilver-6 Grease (3 oz. tube)

Used with PM110 Grease Gun to 
lubricate the 530 Zerk Fitting of the 
517 Roller Block Assembly. Roller 
Blocks should be lubricated every 

two-weeks.  



Page | 4 
 

530 Zerk Fitting (1) Zerk Fitting  

Used with the PM110 Grease Gun to 
apply PM111 Grease to the 517 

Roller Block Assembly. Roller Blocks 
should be lubricated every two-

weeks. 

532 Expansion Pin (1) 1/4" x 5/8" Expansion Pin Used to attach the footwheel to the 
roller (short or long). 

HK207 Tie Plate 
Hardware Kit (4) 526 Tie Plate Bolts, Washers & Nuts 

Kit includes everything needed to 
attach (2) Roller Blocks to a Tie 

Plate and attach the Tie Plate to the 
Fulcrum Box. 

526 Tie Plate Bolt 
(1) 5/16" x 1" stainless steel hex head bolt 
(1) 5/16" stainless steel washer 
(1) 5/16" stainless steel nut 

(4) required per Tie Plate. (2) 
required per Roller Block. 

 
Items are not sold separately. 

528 Anti-Rattle Bolt (1) 3/8" x 2" aluminum hex head bolt 
(1) SF111 Anti-Rattle Lock Nut (1) required per Roller Block. 

HK208 Track Hardware 
Kit 

(6) 529 Track Bolts 
(1) PM211 Bolt Lubricant 

Kit includes everything needed to 
attach a Track to the Fulcrum Box on 

all stand models. 
 

Only (5) 529 Track Bolts are 
required for installation. (1) 

additional is included. 

529 Track Bolt (1) 5/16″ x 1″ aluminum hex head bolt 

Used to attach the Track to the 
Fulcrum Box on all stand models. 

 
(5) required per Track. 

 
We recommend ordering a PM211 
Lubricant for Bolts for installation. 

533 Roller Clamp 
Stud 

(1) 5/16″ x 15/16″ aluminum shoulder stud 
(1) SF152 Roller Clamp Lock Nut (2) required per Roller Block.  

SF111 Anti-Rattle Lock 
Nut (1) 3/8″ aluminum lock nut (1) required per Roller Block. 

SF152 Roller Clamp 
Lock Nut (1) 5/16″ aluminum lock nut (2) required per Roller Block.  

     

One-Meter & Three-Meter Ladders   

     

Product # Name Includes  Additional Information 

3M355 
Three-Meter 

Ladder, Anchor 
Fitting & Hinge 

Assembly 

 
(1) Three-Meter Ladder (pre-assembled) 
(1) C201-1 Anchor Fitting (pre-installed) 
(1) 10025 Two Complete Hinges (pre-installed) 
(1) PM211 Bolt Lubricant 
(1) SF122 Board Bolt Kit 
 
Deck Mount Hardware: 
(4) SF127 2 ½” Deck Installation Bolts 
(4) SF138 5/8" Deck Installation Washers 
(4) SF139 3/4" Deck Installation Washers 
(1) MP108-S-1/2 Half Square Shim Set 
(1) AD110 Threadlocker 
  

Requires Production 
Questionnaire 

The Three-Meter Ladder is 
manufactured in 13 different heights 
to accommodate deck level to water 

level dimensions of 0” to 13”. 
  

3M350 
Three-Meter 

Ladder 
Assembly 

(1) Three-Meter Ladder (pre-assembled) 
(1) PM211 Bolt Lubricant 
 
Deck Mount Hardware: 
(4) SF127 2 ½” Deck Installation Bolts 
(4) SF138 5/8" Deck Installation Washers 
(4) SF139 3/4" Deck Installation Washers 
(1) MP108-S-1/2 Half Square Shim Set 
(1) AD110 Threadlocker  

Requires Production 
Questionnaire 

The Three-Meter Ladder is 
manufactured in 13 different heights 
to accommodate deck level to water 

level dimensions of 0” to 13”. 
  



Page | 5 
 

1M355 
One-Meter 

Ladder, Anchor 
Fitting & Hinge 

Assembly 

(1) One-Meter Ladder (pre-assembled) 
(1) C201-1 Anchor Fitting (pre-installed) 
(1) 10025 Two Complete Hinges (pre-installed) 
(1) PM211 Bolt Lubricant 
(1) SF122 Board Bolt Kit 
 
Deck Mount Hardware: 
(4) SF127 2 ½” Deck Installation Bolts 
(4) SF138 5/8" Deck Installation Washers 
(4) SF139 3/4" Deck Installation Washers 
(1) MP108-S-1/2 Half Square Shim Set 
(1) AD110 Threadlocker  

Requires Production 
Questionnaire 

The One-Meter Main Support and 
Ladder are manufactured in 5 

different heights to accommodate 
deck level to water level dimensions 

of 0” to 13”. 

1M350 
One-Meter 

Ladder 
Assembly 

(1) One-Meter Ladder (pre-assembled) 
(1) PM211 Bolt Lubricant 
 
Deck Mount Hardware: 
(4) SF127 2 ½” Deck Installation Bolts 
(4) SF138 5/8" Deck Installation Washers 
(4) SF139 3/4" Deck Installation Washers 
(1) MP108-S-1/2 Half Square Shim Set 
(1) AD110 Threadlocker  

Requires Production 
Questionnaire 

The One-Meter Main Support and 
Ladder are manufactured in 5 

different heights to accommodate 
deck level to water level dimensions 

of 0” to 13”. 

     

One-Meter & Three-Meter Ladder Parts   

     

Product # Name Includes  Additional Information 

C212 One-Meter Step 
(1) One-Meter Step casting 
(1) C213 Step Insert 
(5) SF104 One-Meter Step Bolts & Nuts 
(1) MP105 Buff Touch-Up Kit 

(4) SF104 One-Meter Step Bolts & 
Nuts are required for installation. (1) 

additional is included. 

HK209 One-Meter Step 
Hardware Kit 

(5) SF104 One-Meter Step Bolts & Nuts 
(1) MP105 Buff Touch-Up Kit 

Kit includes everything needed to 
attach the One-Meter Step to the 

ladder.  

C213 Step Insert  
(1) Step Insert 
(7) SF210 Step Insert Bolts & Nuts 
(1) MP105 Buff Touch Up Kit 

Compatible with One-Meter and 
Three-Meter Steps. 

 
(6) SF210 Step Insert Bolts & Nuts 

are required for installation. (1) 
additional of each is included.  

HK210 Step Insert 
Hardware Kit 

(7) SF210 Step Insert Bolts & Nuts 
(1) MP105 Buff Touch Up Kit 

Kit includes everything needed to 
attach the Step Insert to a One-

Meter or Three-Meter Step. 
(6) SF210 Step Insert Bolts & Nuts 

are required for installation. (1) 
additional of each is included.  

SF104 One-Meter Step 
Bolt 

(1) 3/8″ x 1 ¼” aluminum slotted flat head bolt 
(1) 3/8″ aluminum hex nut 

Used to attach the One-Meter Step 
to the ladder. 

 
The head of this bolt is painted. We 
recommend ordering a MP105 Buff 

Touch Up Kit to coat the threads and 
nut after installation.  

SF210 Step Insert Bolt (1) 10/32″ x 11/16″ aluminum flat head bolt 
(1) 10/32″ aluminum hex nut 

Used to attach the step insert to the 
step on One-Meter and Three-Meter 
Stands. (6) are required per insert. 

 
Items are not sold separately. 

 
The head of this bolt is painted. We 
recommend ordering a MP105 Buff 

Touch Up Kit to coat the threads and 
nut after installation.  

 
 
 
 
 

 
 
  

 
 
 
 
 
 
 
 
 
  

   



Page | 6 
 

Anchor Fittings & Hinge Parts   

     

Product # Name Includes  Additional Information 

C250 
One-Meter / 
Three-Meter 

Anchor Fitting & 
Hinges 

(1) One-Meter / Three Meter Anchor Fitting 
(1) 10025 Two Complete Hinges (pre-installed) 
(1) SF122 Board Bolt Kit 
(6) SF162 Anchor Fitting Bolts, Washers & Nuts 
(1) PM211 Bolt Lubricant 

Anchor fitting attaches to One-Meter 
and Three-Meter Ladders. 

C201-1 
One-Meter / 
Three-Meter 

Anchor Fitting  

(1) One-Meter / Three-Meter Anchor Fitting 
(6) SF162 Anchor Fitting Bolts, Washers & Nuts 
(1) PM211 Bolt Lubricant 

Anchor fitting attaches to One-Meter 
and Three-Meter Ladders. 

SS550 

Short Stand 
Anchor Fitting 

(for stands with 
Duraflex 

Handrails) & 
Hinges 

(1) Short Stand Anchor Fitting 
(1) C400L Left Aluminum Rail Bracket (pre-installed) 
(1) C400R Right Aluminum Rail Bracket (pre-installed) 
(1) 10025 Two Complete Hinges (pre-installed) 
(1) SF122 Board Bolt Kit 
 
Deck Mount Hardware: 
(3) SF127 2 ½” Deck Installation Bolts 
(3) SF138 5/8" Deck Installation Washers 
(3) SF139 3/4" Deck Installation Washers 
(1) MP107-R-1/2 Half Round Shim Set 
(1) AD110 Threadlocker 
 
SS550 is Available in Limited Quantity. 
Subject to be discontinued.  
  

Rear anchor fitting on a SSDGR 
Short Stand with Duraflex Handrails. 

 
Includes pre-drilled holes for 

mounting Double Rail Supports and 
Aluminum Rail Brackets. 

 

SS500 

Short Stand 
Anchor Fitting 

(for stands with 
Duraflex 

Handrails) 

(1) Short Stand Anchor Fitting 
(1) C400L Left Aluminum Rail Bracket (pre-installed) 
(1) C400R Right Aluminum Rail Bracket (pre-installed) 
 
Deck Mount Hardware: 
(3) SF127 2 ½” Deck Installation Bolts 
(3) SF138 5/8" Deck Installation Washers 
(3) SF139 3/4" Deck Installation Washers 
(1) MP107-R-1/2 Half Round Shim Set 
(1) AD110 Threadlocker 
 
SS500 is Available in Limited Quantity. 
Subject to be discontinued.  
  

Rear anchor fitting on a SSDGR 
Short Stand with Duraflex Handrails. 

 
Includes pre-drilled holes for 

mounting Double Rail Supports and 
Aluminum Rail Brackets. 

SS554 
Short Stand 

Anchor Fitting & 
Hinges 

(1) Short Stand Anchor Fitting 
(1) 10025 Two Complete Hinges (pre-installed) 
(1) SF122 Board Bolt Kit 
 
Deck Mount Hardware: 
(3) SF127 2 ½” Deck Installation Bolts 
(3) SF138 5/8" Deck Installation Washers 
(3) SF139 3/4" Deck Installation Washers 
(1) MP107-R-1/2 Half Round Shim Set 
(1) AD110 Threadlocker 
 
SS554 is Available in Limited Quantity. 
Subject to be discontinued.   

Rear anchor fitting on a SSNR 
Short Stand. 

SS504 Short Stand 
Anchor Fitting 

(1) Short Stand Anchor Fitting 
 
Deck Mount Hardware: 
(3) SF127 2 ½” Deck Installation Bolts 
(3) SF138 5/8" Deck Installation Washers 
(3) SF139 3/4" Deck Installation Washers 
(1) MP107-R-1/2 Half Round Shim Set 
(1) AD110 Threadlocker 
 
SS504 is Available in Limited Quantity. 
Subject to be discontinued.  
  

Rear anchor fitting on a SSNR 
Short Stand. 



Page | 7 
 

10025 Hinge Assembly 

(2) Complete Hinges (pre-assembled:  Includes Male, Female 
Hinge, Hinge Pin, Nyliners, & O-Rings) 
(2) 60053- 5/8" smaller diameter flat washer 
(10) SF106 Hinge Bolts & Nuts 
(1) MP105 Buff Touch-Up Kit 
 
*Apply (2) drops of lightweight oil (as for door hinges) every two-
weeks. 

Previously C202x2 
Used with the SF122 Board Bolt Kit 
to attach a diving board to a diving 

stand. 
 

Compatible with all diving stand 
models. 

 
(2) 60053- 5/8" smaller diameter flat 
washer- used with New Short Stands 

 
(4) SF106 Hinge Bolts & Nuts 

required per hinge. (1) additional is 
included. 

HK201 Hinge Repair Kit 
(1) C203 Hinge Pin 
(4) C209 Nyliners 
(2) C210 O-Rings 

Kit includes everything needed to 
repair a Hinge (excluding the hinge 

itself). 
 

Apply (2) drops of lightweight oil (as 
for door hinges) every two-weeks.  

C203 Hinge Pin (1) aluminum Hinge Pin (1) required per Hinge. 

C209 Nyliner (1) Nyliner (4) required per Hinge. 

C210 O-Ring (1) O-Ring (2) required per Hinge. 

HK202 Hinge Hardware 
Kit 

(5) SF106 Hinge Bolts & Nuts 
(1) MP105 Buff Touch-Up Kit 

Kit includes everything needed to 
attach a Hinge to an Anchor Fitting. 

 
(4) SF106 Hinge Bolts & Nuts 

required per hinge. (1) additional is 
included. 

SF106 Hinge Bolt (1) 3/8″ x 1 ½” aluminum hex head bolt 
(1) 3/8″ aluminum hex nut 

Used to attach the hinge to the 
Anchor Fitting. 

 
The head of this bolt is painted. We 
recommend ordering a MP105 Buff 

Touch-Up Kit to coat the threads and 
nut after installation. 

HK203 
One-Meter / 
Three-Meter 

Anchor Fitting 
Hardware Kit 

(6) SF162 Anchor Fitting Bolts, Washers & Nuts 
(1) PM211 Bolt Lubricant 

Kit includes everything needed to 
attach a One-Meter / Three-Meter 
Anchor Fitting to a One-Meter or 

Three-Meter Ladder. 

SF162 
One-Meter / 
Three-Meter 

Anchor Fitting 
Bolt 

(1) 3/8" x 1 ¼” stainless steel slotted round head bolt 
(1) stainless steel flat washer 
(1) stainless steel flange nut 

Used to attach the One-Meter / 
Three-Meter Anchor Fitting to a 

Ladder. 
 

(6) required per One-Meter / Three-
Meter Anchor Fitting. 

 
We recommend ordering a PM211 

Bolt Lubricant for installation. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  

    



Page | 8 
 

Handrail Parts   

 

 

     

Product # Name Includes  Additional Information 

C100-4R-1M/3M 
One-Meter & 
Three- Meter 
Rail Package 

(2) C101 Left Front or Right Rear Double Rail Supports 
(2) C102 Right Front or Left Rear Double Rail Supports 
(2) C104 Curved Rails 
(2) C106 Straight Rails 
(6) 107 Handrail Plugs 
(22) SF105 Multi-Purpose Stand Assembly Bolts & Nuts 
(2) SF106 Hinge Bolts & Nuts (to be used in place of the SF105 if 
a longer bolt is required due to a thicker rail support casting) 
(26) 207 Rail Clamps 
(10) SF117 1/2" Rail Clamp Bolts 
(18) SF118 5/8" Rail Clamp Bolts 
(12) SF119 3/4" Rail Clamp Bolts 
(2) SF120 7/8" Rail Clamp Bolts 
(2) C206 Bronze Rail Brackets 
(1) MP105 Buff Touch-Up Kit  

(1) PM211 Bolt Lubricant 

 
Previously C100-4R 

Requires Handrail Questionnaire 
Rail supports are custom fit to a 

Fulcrum Box in the factory; 
therefore, it may be difficult to line up 

the rail sockets on an existing 
Fulcrum Box in the field without 
factory equipment. Please note, 

excessive bending of a rail support 
may cause it to break. 

 
(5) SF105 Multi-Purpose Stand 

Assembly Bolts & Nuts are required 
per Double Rail Support. (2) 

additional are included. 
 

(24) 207 Rail Clamps are required 
per stand. (2) additional are 

included. 

C100-4R-SS Short Stand Rail 
Package 

(2) C101 Left Front or Right Rear Double Rail Supports 
(2) C102 Right Front or Left Rear Double Rail Supports 
(2) C104 Curved Rails 
(2) C106 Straight Rails 
(1) C400L Left Aluminum Rail Bracket 
(1) C400R Right Aluminum Rail Bracket 
(6) 107 Handrail Plugs 
(22) SF105 Multi-Purpose Stand Assembly Bolts & Nuts 
(2) SF106 Hinge Bolts & Nuts (to be used in place of the SF105 if 
a longer bolt is required due to a thicker rail support casting) 
(26) 207 Rail Clamps 
(10) SF117 1/2" Rail Clamp Bolts 
(18) SF118 5/8" Rail Clamp Bolts 
(12) SF119 3/4" Rail Clamp Bolts 
(2) SF120 7/8" Rail Clamp Bolts 
(2) C206 Bronze Rail Brackets 
(1) MP105 Buff Touch-Up Kit  
(1) PM211 Bolt Lubricant   

 
Requires Handrail Questionnaire 

Rail supports are custom fit to a 
Fulcrum Box in the factory; 

therefore, it may be difficult to line up 
the rail sockets on an existing 

Fulcrum Box in the field without 
factory equipment. Please note, 

excessive bending of a rail support 
may cause it to break. 

 
(5) SF105 Multi-Purpose Stand 

Assembly Bolts & Nuts are required 
per Double Rail Support. (2) 

additional are included. 
 

(24) 207 Rail Clamps are required 
per stand. (2) additional are 

included. 

C101 
Left Front or 
Right Rear 
Double Rail 

Support 

(1) Left Front or Right Rear Double Rail Support 
(6) SF105 Multi-Purpose Stand Assembly Bolts & Nuts 
(1) SF106 Hinge Bolts & Nut (to be used in place of the SF105 if a 
longer bolt is required due to a thicker rail support casting) 

 
Previously C101A  

Requires Handrail Questionnaire 
Rail supports are custom fit to a 

Fulcrum Box in the factory; 
therefore, it may be difficult to line up 

the rail sockets on an existing 
Fulcrum Box in the field without 
factory equipment. Please note, 

excessive bending of a rail support 
may cause it to break. 

 
(5) SF105 Multi-Purpose Stand 

Assembly Bolts & Nuts are required 
per Double Rail Support. (1) 

additional is included.  

C102 
Right Front or 

Left Rear 
Double Rail 

Support 

(1) Right Front or Left Rear Double Rail Support 
(6) SF105 Multi-Purpose Stand Assembly Bolts & Nuts 

(1) SF106 Hinge Bolts & Nut (to be used in place of the SF105 
if a longer bolt is required due to a thicker rail support casting) 

Previously C102A 
Requires Handrail Questionnaire 

Rail supports are custom fit to a 
Fulcrum Box in the factory; 

therefore, it may be difficult to line up 
the rail sockets on an existing 

Fulcrum Box in the field without 
factory equipment. Please note, 

excessive bending of a rail support 
may cause it to break. 

 
(5) SF105 Multi-Purpose Stand 

Assembly Bolts & Nuts are required 
per Double Rail Support. (1) 

additional is included. 



Page | 9 
 

C104 Curved Rail 

(1) Curved Rail 
(1) 107 Handrail Plug 
(8) 207 Rail Clamps 
(1) SF117 1/2" Rail Clamp Bolt 
(7) SF118 5/8" Rail Clamp Bolts 
(4) SF119 3/4"Rail Clamp Bolts 
(1) SF120 7/8" Rail Clamp Bolt  

Requires Handrail Questionnaire 
(6) 207 Rail Clamps are required per 
Curved Rail. (2) additional are 
included. 

C106 Straight Rail 

(1) Straight Rail 
(2) 107 Handrail Plugs 
(6) 207 Rail Clamps 
(1) SF117 1/2" Rail Clamp Bolt 
(5) SF118 5/8" Rail Clamp Bolts 
(2) SF119 3/4" Rail Clamp Bolts 
(1) SF120 7/8" Rail Clamp Bolt  

Requires Handrail Questionnaire 
(4) 207 Rail Clamps are required per 

Straight Rail. (2) additional are 
included. 

C206 Bronze Rail 
Bracket 

(1) Bronze Rail Bracket 
(2) 207 Rail Clamps 
(2) SF118 5/8" Rail Clamp Bolts  

Requires Handrail Questionnaire 
Used to attach the straight rail to the 

curved rail.  

C400L Left Aluminum 
Rail Bracket 

(1) Left Aluminum Rail Bracket 
(1) SF105 Multi-Purpose Stand Assembly Bolt & Nut 
(1) SF105-S Aluminum Rail Bracket Bolt & Nut 
(1) MP105 Buff Touch-Up Kit 

Previously SB404L 
Used on Short Stand Anchor Fittings 
(for stands with Duraflex Handrails) 
to attach rail tubing. These anchor 
fittings have pre-drilled holes for 

mounting Double Rail Supports and 
Aluminum Rail Brackets. 

 
Rail attachment hardware must be 

purchased separately. 
 

(2) 207 Rail Clamps & (2) SF118 
5/8" Rail Clamp Bolts required per 

Rail Bracket. 

C400R Right Aluminum 
Rail Bracket 

(1) Right Aluminum Rail Bracket 
(1) SF105 Multi-Purpose Stand Assembly Bolt & Nut 
(1) SF105-S Aluminum Rail Bracket Bolt & Nut 
(1) MP105 Buff Touch-Up Kit 

Previously SB404R 
Used on Short Stand Anchor Fittings 
(for stands with Duraflex Handrails) 
to attach rail tubing. These anchor 
fittings have pre-drilled holes for 

mounting Double Rail Supports and 
Aluminum Rail Brackets. 

 
 Rail attachment hardware must be 

purchased separately. 
 

(2) 207 Rail Clamps & (2) SF118 
5/8" Rail Clamp Bolts required per 

Rail Bracket. 

107 Handrail Plug (1) black plastic rail plug Previously C107 
Used to plug the end of a handrail. 

HK101 Handrail 
Hardware Kit 

(26) 207 Rail Clamps 
(10) SF117 1/2" Rail Clamp Bolts 
(18) SF118 5/8" Rail Clamp Bolts 
(12) SF119 3/4" Rail Clamp Bolts 
(2) SF120 7/8" Rail Clamp Bolts 

Kit includes everything needed to 
attach (2) C104 Curved Handrails 
and (2) C106 Straight Handrails. 

 
(24) 207 Rail Clamps are required 

per stand. (2) additional are 
included.  

HK102 
Handrail 

Hardware Half 
Kit 

 
(13) 207 Rail Clamps 
(5) SF117 1/2" Rail Clamp Bolts 
(9) SF118 5/8" Rail Clamp Bolts 
(6) SF119 3/4" Rail Clamp Bolts 
(1) SF120 7/8" Rail Clamp Bolts 

Kit includes everything needed to 
attach (1) C104 Curved Handrail and 

(1) C106 Straight Handrail. 
 

(12) 207 Rail Clamps are required 
per one side of a stand. (1) 

additional is included. 



Page | 10 
 

HK103 
Double Rail 

Support 
Hardware Kit 

 
(22) SF105 Multi-Purpose Stand Assembly Bolts & Nuts 
(2) SF106 Hinge Bolts & Nut (to be used in place of the SF105 if a 
longer bolt is required due to a thicker rail support casting) 
(1) MP105 Buff Touch-Up Kit 
(1) PM211 Bolt Lubricant  
 

 
  

Kit includes everything needed to 
attach (2) C101 Left Front or Right 
Rear Double Rail Supports and (2) 

C102 Right Front or Left Rear 
Double Rail Supports. 

 
(5) SF105 Multi-Purpose Stand 

Assembly Bolts & Nuts are required 
per Double Rail Support. (2) 

additional are included. 

HK104 
Double Rail 
Support Half 
Hardware Kit 

 
(11) SF105 Multi-Purpose Stand Assembly Bolts & Nuts 
(1) SF106 Hinge Bolts & Nut (to be used in place of the SF105 if a 
longer bolt is required due to a thicker rail support casting) 
(1) MP105 Buff Touch-Up Kit 
(1) PM211 Bolt Lubricant  
  

Kit includes everything needed to 
attach (1) C101 Left Front or Right 
Rear Double Rail Support and (1) 

C102 Right Front or Left Rear 
Double Rail Support. 

 
(5) SF105 Multi-Purpose Stand 

Assembly Bolts & Nuts are required 
per Double Rail Support. (1) 

additional is included. 

207 Rail Clamp (1) stainless steel rail clamp 

Previously C207 
Used with the Rail Clamp Bolts 

(listed below) to attach rail tubing to 
a stand. 

SF117 1/2" Rail Clamp 
Bolt (1) 5/16" x ½” stainless steel hex head bolt 

Used with the 207 Rail Clamps to 
attach rail tubing to a stand. 

 
Castings vary in thickness and may 

require a different bolt length. 
 

Tighten rail clamp bolts periodically. 

SF118 5/8" Rail Clamp 
Bolt (1) 5/16" x 5/8" stainless steel hex head bolt 

Used with the 207 Rail Clamps to 
attach rail tubing to a stand. 

 
This length is most commonly used. 
Castings vary in thickness and may 

require a different bolt length. 
 

Tighten rail clamp bolts periodically. 

SF119 3/4" Rail Clamp 
Bolt (1) 5/16" x 3/4" stainless steel hex head bolt 

Used with the 207 Rail Clamps to 
attach rail tubing to a stand. 

 
This length is typically used to attach 
the 207 Rail Clamps at the top of the 
C101 & C102 Double Rail Supports. 

 
Castings vary in thickness and may 

require a different bolt length. 
 

Tighten rail clamp bolts periodically. 

SF120 7/8" Rail Clamp 
Bolt (1) 5/16" x 7/8" stainless steel hex head bolt 

Previously SF153 
Used with the 207 Rail Clamps to 

attach rail tubing to a stand. 
This length is typically used to pull 
the 207 Rail Clamp into the socket 

and replaced with a shorter Rail 
Clamp Bolt. 

 
Castings vary in thickness and may 

require a different bolt length. 
 

Tighten rail clamp bolts periodically. 



Page | 11 
 

SF105 
Multi-Purpose 

Stand Assembly 
Bolt 

(1) 3/8″ x 1 ¼” aluminum hex head bolt  
(1) 3/8″ aluminum hex nut 

Used to attach Double Rail Supports 
to Fulcrum Boxes on all stand 

models, cross-plates to the Main 
Support frame on One-Meter and 
Three-Meter Stands and to attach 

C400L Left Aluminum Rail Brackets 
and C400R Right Aluminum Rail 
Brackets to Short Stand Anchor 
Fittings (for stands with Duraflex 
Handrails) to attach rail tubing. 
These anchor fittings have pre-

drilled holes for mounting Double 
Rail Supports and Aluminum Rail 

Brackets. 
 

Items are not sold separately. 
 

The head of this bolt is painted. We 
recommend ordering a MP105 Buff 

Touch-Up Paint Kit to coat the 
threads and nut after installation. 

 
We recommend ordering a PM211 

Bolt Lubricant for installation. 

SF105-S Aluminum Rail 
Bracket Bolt 

(1) 3/8″ x 1 ¼” aluminum hex head bolt (with shaved head) 
(1) 3/8″ aluminum hex nut 

Used to attach the C400L Left 
Aluminum Rail Bracket or C400R 
Right Aluminum Rail Bracket to 
Short Stand Anchor Fittings (for 
stands with Duraflex Handrails). 
These anchor fittings have pre-

drilled holes for mounting Double 
Rail Supports and Aluminum Rail 

Brackets. 

     

Hardware Kits   

 

 

     

Product # Name Includes  Additional Information 

HK215 Three-Meter 
Hardware Kit 

 
(1) SF122 Board Bolt Kit 
(6) SF162 Anchor Fitting Bolts, Double Washers & Nuts 
(3) SF108 Fulcrum Box Bolts, Nuts & Washers 
(34) SF105 Multi-Purpose Stand Assembly Bolt & Nuts  
(11) SF106 Hinge Bolts & Nuts (can also be used in place of the 
SF105 if a longer bolt is required due to a thicker rail support 
casting)  
(55) SF210 Step Insert Bolts & Nuts 
(26) 207 Rail Clamps 
(10) SF117 1/2" Rail Clamp Bolts 
(18) SF118 5/8" Rail Clamp Bolts 
(12) SF119 3/4" Rail Clamp Bolts 
(2) SF120 7/8" Rail Clamp Bolts 
(2) C206 Bronze Rail Brackets 
(1) MP105 Buff Touch-Up Kit 
(1) PM211 Bolt Lubricant 
 
  

Kit includes everything needed to 
replace all bolts on a Three-Meter 
Stand (excluding deck installation 

bolts). 
 

(5) SF105 Multi-Purpose Stand 
Assembly Bolts & Nuts are required 
per Double Rail Support Arm and (6) 

per main support cross-plate. (2) 
additional are included 

 
(4) SF106 Hinge Bolts & Nuts are 

required per Hinge and (2) per 
Double Rail Support (if necessary). 

(1) additional is included. 
 

(6) SF210 Step Insert Bolts & Nuts 
are required per Step Insert. (1) 

additional is included. 
 

(24) 207 Rail Clamps are required 
per stand. (2) additional are 

included.  



Page | 12 
 

HK214 One-Meter 
Hardware Kit 

 
(1) SF122 Board Bolt Kit 
(6) SF162 Anchor Fitting Bolts, Double Washers & Nuts 
(3) SF108 Fulcrum Box Bolts, Nuts & Washers 
(30) SF105 Multi-Purpose Stand Assembly Bolt & Nuts 
(11) SF106 Hinge Bolts & Nuts (can also be used in place of the 
SF105 if a longer bolt is required due to a thicker rail support 
casting) 
(13) SF104 One-Meter Step Bolts & Nuts 
(19) SF210 Step Insert Bolts & Nuts 
(26) 207 Rail Clamps 
(10) SF117 1/2" Rail Clamp Bolts 
(18) SF118 5/8" Rail Clamp Bolts 
(12) SF119 3/4" Rail Clamp Bolts 
(2) SF120 7/8" Rail Clamp Bolts 
(2) C206 Bronze Rail Brackets 
(1) MP105 Buff Touch-Up Kit 
(1) PM211 Bolt Lubricant 
  

Kit includes everything needed to 
replace all bolts on a One-Meter 

Stand (excluding deck installation 
bolts). 

 
(5) SF105 Multi-Purpose Stand 

Assembly Bolts & Nuts are required 
per Double Rail Support and (4) per 

main support cross-plate. (2) 
additional are included 

 
(4) SF106 Hinge Bolts & Nuts are 

required per Hinge and (2) per 
Double Rail Support (if necessary). 

(1) additional is included. 
 

(4) SF104 One-Meter Step Bolts & 
Nuts are required per One-Meter 
Step. (1) additional is included. 

 
(6) SF210 Step Insert Bolts & Nuts 

are required per Step Insert. (1) 
additional is included. 

 
(24) 207 Rail Clamps are required 

per stand. (2) additional are 
included.  

HK213 
Short Stand 

(with Duraflex 
Handrails) 

Hardware Kit 

(1) SF122 Board Bolt Kit 
(22) SF105 Multi-Purpose Stand Assembly Bolt & Nuts 
(2) SF106 Hinge Bolts & Nuts (can also be used in place of the 
SF105 if a longer bolt is required due to a thicker rail support 
casting)  
(26) 207 Rail Clamps 
(10) SF117 1/2" Rail Clamp Bolts 
(18) SF118 5/8" Rail Clamp Bolts 
(12) SF119 3/4" Rail Clamp Bolts 
(2) SF120 7/8" Rail Clamp Bolts 
(2) C206 Bronze Rail Brackets 
(1) MP105 Buff Touch-Up Kit 
(1) PM211 Bolt Lubricant  

Kit includes everything needed to 
replace all bolts on a Short Stand 

(with Duraflex Handrails) - (excluding 
deck installation bolts). 

 
(5) SF105 Multi-Purpose Stand 

Assembly Bolts & Nuts are required 
per Double Rail Support. (2) 

additional are included. 
 

(24) 207 Rail Clamps are required 
per stand. (2) additional are 

included. 
 

  

HK212 Short Stand 
Hardware Kit 

(1) SF122 Board Bolt Kit 
(9) SF106 Hinge Bolts & Nuts  
(1) MP105 Buff Touch-Up Kit 
(1) PM211 Bolt Lubricant  

 
Kit includes everything needed to 
replace all bolts on a Short Stand 
(excluding deck installation bolts).  

 
 
 
 
 
 
 
 
 
 
 
 
 
  

 
 
 
  

  



Page | 13 
 

Deck Installation Parts   

 

 

     

Product # Name Includes  Additional Information 

HK216 
One-Meter / 
Three-Meter 

Deck Installation 
Hardware Kit 

Deck Mount Hardware: 
(4) SF125 2" Deck Installation Bolts 
(4) SF127 2 ½” Deck Installation Bolts 
(8) SF138 5/8" Deck Installation Washers 
(8) SF139 3/4" Deck Installation Washers 
(1) MP108-S Square Shim Set 
(1) AD110 Threadlocker  

Kit includes everything needed to 
level a One-Meter or Three-Meter 
Stand and attach to Hilti Inserts or 

Bronze Anchors. 

HK217 

One-Meter / 
Three-Meter 
Ladder Deck 
Installation 

Hardware Kit 

Deck Mount Hardware: 
(4) SF127 2 ½” Deck Installation Bolts 
(4) SF138 5/8" Deck Installation Washers 
(4) SF139 3/4" Deck Installation Washers 
(1) MP108-S-1/2 Half Square Shim Set 
(1) AD110 Threadlocker  

Kit includes everything needed to 
level a One-Meter Ladder or Three-

Meter Ladder and attach to Hilti 
Inserts or Bronze Anchors. 

HK218 

One- Meter / 
Three Meter 
Main Support 

Deck Installation 
Hardware Kit 

Deck Mount Hardware: 
(4) SF125 2" Deck Installation Bolts 
(4) SF138 5/8" Deck Installation Washers 
(4) SF139 3/4" Deck Installation Washers 
(1) MP108-S-1/2 Half Square Shim Set 

(1) AD110 Threadlocker 

Kit includes everything needed to 
level a One-Meter Main Support or 

Three-Meter Main Support and 
attach to Hilti Inserts or Bronze 

Anchors. 

HK219 
Short Stand 

Deck Installation 
Hardware Kit 

Deck Mount Hardware: 
(6) SF127 2 ½” Deck Installation Bolts 
(6) SF138 5/8" Deck Installation Washers 
(6) SF139 3/4" Deck Installation Washers 
(1) MP107-R Round Shim Set 
(1) AD110 Threadlocker  

Kit includes everything needed to 
level a Short Stand and attach to 
Hilti Inserts or Bronze Anchors. 

HK220 
Short Stand 

Deck Installation 
Half Hardware 

Kit 

Deck Mount Hardware: 
(3) SF127 2 ½” Deck Installation Bolts 
(3) SF138 5/8" Deck Installation Washers 
(3) SF139 3/4" Deck Installation Washers 
(1) MP107-R-1/2 Half Round Shim Set 
(1) AD110 Threadlocker 
 

Kit includes everything needed to 
level a Short Stand Anchor Fitting or 

Fulcrum Box and attach to Hilti 
Inserts or Bronze Anchors. 

SF125 2" Deck 
Installation Bolt (1) 5/8" x 2" stainless steel hex head bolt 

Used to attach One-Meter & Three-
Meter Main Supports and Short 
Stand Fulcrum Boxes & Anchor 
Fittings to Hilti Inserts or Bronze 

Anchors. 

SF127 2 1/2" Deck 
Installation Bolt (1) 5/8" x 2 ½” stainless steel hex head bolt 

Used to attach One-Meter & Three-
Meter Ladders to Hilti Inserts or 

Bronze Anchors. 

SF138 
5/8" Deck 
Installation 

Washer 
(1) 5/8" stainless steel washer 

Used with SF139 3/4" Deck 
Installation Washer. Washers should 
be stacked. (1) of each size required 

per mounting location. 

SF139 
3/4" Deck 
Installation 

Washer 
(1) 3/4" stainless steel washer  

Used with SF138 5/8" Deck 
Installation Washer. Washers should 
be stacked. (1) of each size required 

per mounting location. 

AD110 Threadlocker (1) Loctite 243 10 mL Threadlocker bottle 
Used to prevent deck installation 
bolts from loosening and provide 
lubrication to stainless steel bolts.   

MP107-R Round Shim Set 
(4) 1/32" round plastic shims 
(4) 1/16" round plastic shims 
(4) 1/8" round plastic shims 
(6) 3/16" round phenolic shims 

Previously MP107 
Used to level a complete Short 

Stand. At least one phenolic shim at 
each anchor mounting location is 

required. 

MP107-R-1/2 Half Round 
Shim Set 

(2) 1/32" round plastic shims 
(2) 1/16" round plastic shims 
(2) 1/8" round plastic shims 
(3) 3/16" round phenolic shims 

Used to level the Short Stand 
Anchor Fitting or Fulcrum Box. At 
least one phenolic shim at each 

anchor mounting location is required.  

MP108-S Square Shim 
Set 

(8) 1/16" square plastic shims 
(8) 3/32" square plastic shims 
(4) 1/8" square plastic shims 
(4) 3/16" square plastic shims 
(4) 1/4" square plastic shims 
(4) 3/8" square plastic shims 
(4) 1/2" square plastic shims. 

Previously MP108 
Used to level One-Meter & Three-
Meter Stands. At least one shim at 
each anchor mounting location is 

required. 



Page | 14 
 

MP108-S-1/2 Half Square 
Shim Set 

(4) 1/16" square plastic shims 
(4) 3/32" square plastic shims 
(2) 1/8" square plastic shims 
(2) 3/16" square plastic shims 
(2) 1/4" square plastic shims 
(2) 3/8" square plastic shims 
(2) 1/2" square plastic shims 

Used to level One-Meter & Three-
Meter Main Supports or One-Meter 

& Three-Meter Ladders. At least one 
shim at each anchor mounting 

location is required. 

      

Deck Anchors  

     

Product # Name Includes  Additional Information 

900-SS-6 
Short Stand 

Bronze Anchor 
Set 

(6) Bronze Anchor Castings 
(6) 5/8" x 1" steel bolt (for layout positioning) 
(6) corks 

Previously 900 SET 
There are (6) mounting locations on 

a Short Stand. 
 

Set is used to anchor a complete 
Short Stand. Bronze Anchors are 

typically used on new pool deck 
pours. 

900-SS 
Single Short 

Stand Bronze 
Anchor 

(1) Bronze Anchor casting 
(1) 5/8" x 1" steel hex head bolt (for layout positioning) 
(1) cork 

Previously 900 
There are (6) mounting locations on 

a Short Stand. 
 

Bronze Anchors are typically used 
on new pool deck pours. 

905-1M/3M-8 
One-Meter / 
Three-Meter 

Bronze Anchor 
Set 

(8) Bronze Anchor castings 
(8) 5/8" x 1" steel hex head bolts (for layout positioning) 
(8) ½” x 5" steel hex head bolts (for positioning in cement) 
(8) corks 

Previously 905 SET 
There are (8) mounting locations on 
a One-Meter or Three-Meter Stand. 

Set is used to anchor a complete 
One-Meter or Three-Meter Stand. 

 
Bronze Anchors are typically used 

on new pool deck pours. 

905-1M/3M 
Single One-

Meter / Three-
Meter Bronze 

Anchor 

(1) Bronze Anchor Castings 
(1) 5/8" x 1" steel hex head bolts (for layout positioning) 
(1) ½” x 5" steel hex head bolt for (positioning in cement) 
(1) cork 

Previously 905 
There are (8) mounting locations on 
a One-Meter or Three-Meter Stand. 

 
Bronze Anchors are typically used 

on new pool deck pours. 

901-SS-WD 
Short Stand Hilti 
Insert, Epoxy & 
Dispenser Kit 

(6) 912 Hilti Inserts 
(1) Hilti HDM 500 Manual Dispenser 
(1) Hilti HIT-CR 500 Cartridge Holder 
(2) Hilti HIT-HY 200-R 330 mL Injectable Adhesive Foil Packs 
(2) mixing nozzles 
(2) nozzle extensions 
(1) hole cleaning brush 

Previously 901 
There are (6) mounting locations on 
a Short Stand. Kit is used to anchor 

a complete Short Stand. 
 

Hilti Inserts are typically used on 
existing pool decks. 

902-SS-ND 
Short Stand Hilti 
Insert & Epoxy 

Kit 

(6) 912 Hilti Inserts 
(2) Hilti HIT-HY 200-R 330 mL Injectable Adhesive Foil Packs 
(2) mixing nozzles 
(2) nozzle extensions 
(1) hole cleaning brush 

Previously 902 
There are (6) mounting locations on 
a Short Stand. Kit is used to anchor 

a complete Short Stand. 
 

Hilti Inserts are typically used on 
existing decks. 

903-SS-1/2-WD 
Short Stand Hilti 
Insert, Epoxy & 
Dispenser Half 

Kit 

(3) 912 Hilti Inserts 
(1) Hilti HDM 500 Manual Dispenser 
(1) Hilti HIT-CR 500 Cartridge Holder 
(1) Hilti HIT-HY 200-R 330 mL Injectable Adhesive Foil Pack 
(1) mixing nozzle 
(1) nozzle extension 
(1) hole cleaning brush 

Previously 903 
There are (3) mounting locations on 
a Fulcrum Box and (3) on a Short 
Stand Anchor Fitting. Kit is used to 

anchor only one of these 
components. Hilti Inserts are 

typically used on existing pool decks. 

904-SS-1/2-ND 
Short Stand Hilti 
Insert & Epoxy 

Half Kit 

(3) 912 Hilti Inserts 
(1) Hilti HIT-HY 200-R 330 mL Injectable Adhesive Foil Pack 
(1) mixing nozzle 
(1) nozzle extension 
(1) hole cleaning brush 

 
Previously 904 

There are (3) mounting locations on 
a Fulcrum Box and (3) on a Short 
Stand Anchor Fitting. Kit is used to 
anchor either of these components. 

Hilti Inserts are typically used on 
existing pool decks. 



Page | 15 
 

906-1M/3M-WD 

One-Meter / 
Three-Meter 
Hilti Insert, 
Epoxy & 

Dispenser Kit 

(8) 912 Hilti Inserts 
(1) Hilti HDM 500 Manual Dispenser 
(1) Hilti HIT-CR 500 Cartridge Holder 
(2) Hilti HIT-HY 200-R 330 mL Injectable Adhesive Foil Packs 
(2) mixing nozzles 
(2) nozzle extensions 
(1) hole cleaning brush  

Previously 906 
There are (8) mounting locations on 
a One-Meter or Three-Meter Stand. 

Kit is used to anchor a complete 
One-Meter or Three-Meter Stand. 

 
Hilti Inserts are typically used on 

existing pool decks. 

907-1M/3M-ND 
One-Meter / 
Three-Meter 
Hilti Insert & 

Epoxy Kit 

(8) 912 Hilti Inserts 
(2) Hilti HIT-HY 200-R 330 mL Injectable Adhesive Foil Packs 
(2) mixing nozzles 
(2) nozzle extensions 
(1) hole cleaning brush 

Previously 907 
There are (8) mounting locations on 
a One-Meter or Three-Meter Stand. 

Kit is used to mount a complete 
One-Meter or Three-Meter Stand. 

 
Hilti Inserts are typically used on 

existing pool decks. 

908-1M/3M-1/2-WD 

One-Meter / 
Three-Meter 
Hilti Insert, 
Epoxy & 

Dispenser Half 
Kit 

(4) 912 Hilti Inserts 
(1) Hilti HDM 500 Manual Dispenser 
(1) Hilti HIT-CR 500 Cartridge Holder 
(1) Hilti HIT-HY 200-R 330 mL Injectable Adhesive Foil Pack 
(1) mixing nozzle 
(1) nozzle extension 
(1) hole cleaning brush  

Previously 908 
There are (4) mounting locations on 
a Main Support and (4) on a Ladder. 
Kit is used to anchor either of these 

components. 
 

Hilti Inserts are typically used on 
existing pool decks. 

909-1M/3M-1/2-ND 
One-Meter / 
Three-Meter 
Hilti Insert & 

Epoxy Half Kit 

(4) 912 Hilti Inserts 
(1) Hilti HIT-HY 200-R 330 mL Injectable Adhesive Foil Pack 
(1) mixing nozzle 
(1) nozzle extension 
(1) hole cleaning brush 

Previously 909 
There are (4) mounting locations on 
a Main Support and (4) on a Ladder. 
Kit is used to anchor either of these 

components. 
 

Hilti Inserts are typically used on 
existing pool decks. 

912 Single Hilti 
Insert (1) 5/8” x 5 ½” Stainless Steel Internally Threaded Hilti Insert Hilti Inserts are typically used on 

existing pool decks. 

910-DIS Hilti Dispenser (1) Hilti HDM 500 Manual Dispenser 
(1) Hilti HIT-CR 500 Cartridge Holder 

New Product # 
Previously 910 

911-AD Hilti Adhesive 
(1) Hilti HIT-HY 200-R 330 mL Injectable Adhesive Foil Pack 
(1) mixing nozzle 
(1) nozzle extension 
(1) hole cleaning brush  

New Product # 
Previously 911 

LO-1 Layout 
Template (1) full size paper template 

Requires Production 
Questionnaire 

A layout template is needed for 
proper placement of mounting 
locations for Duraflex Stands. 

 
Not all layouts are the same. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

  



Page | 16 
 

Paint & Lubricant   

 

 

     

Product # Name Includes Additional Information 

MP105 Buff Touch-Up 
Kit 

(1) 1 oz. bottle of Buff colored paint 
(1) application brush 

Used to touch-up small areas of a 
diving stand. Also used to coat 

threads and nuts on painted 
aluminum bolts after installation. 

 
Painted bolts include: SF104 One-

Meter Step Bolt, SF105 Multi-
Purpose Stand Assembly Bolt, 

SF106 Hinge Bolt and SF210 Step 
Insert Bolt.  

MP106 Aqua Touch-Up 
Kit 

(1) tube of Aqua colored paint 
(1) 1 oz. bottle of hardener 

(1) application brush 

Used to touch-up small areas of a 
diving board. Touch-up paint does 

not include any slip-resistant 
material.  

PM211 Bolt Lubricant (1) 1 oz. bottle of lubricant 
(1) application brush 

Used to lubricate SF108 Fulcrum 
Box Bolts, SF162 One-Meter / 

Three-Meter Anchor Fitting Bolt, 
SF105 Multi-Purpose Stand 

Assembly Bolts and 529 Track Bolts. 

      

Diving Board Parts   

 

 

     

Product # Name Includes  Additional Information 

SF122 Board Bolt Kit 

(2) 5/8" x 3 ½” stainless steel carriage bolts 
(2) 5/8" stainless steel lock washers 
(2) 5/8" stainless steel flat washers 
(2) 5/8" stainless steel hex nuts 

(2) Loctite 243 0.5 mL Threadlocker capsules 

Used with 10025 Hinges to attach 
diving boards to diving stands. 

Compatible with all diving stand 
models.  

SF123 Washer Kit (2) 5/8" stainless steel lock washers 
(2) 5/8" stainless steel flat washers Items are not sold separately.  

AA101 Maxi-B Anchor 
Angle Assembly 

(1) anchor angle 
(1) anchor plate 
(1) anchor angle gasket (pre-installed) 
(1) anchor plate gasket (pre-installed) 
(1) anchor angle support (pre-installed) 
(7) 3/8” x 2 ¼” stainless steel flat head torx bolts 
(2) Loctite 263 0.5 mL Threadlocker capsules 
(1) Safe-T-Walk Strip  

Black “back-end” on a Maxi-B diving 
board. 

PM151 Safe-T-Walk 
Strip (1) Safe-T-Walk Strip 

Adhesive backed strip with a rough 
texture that is applied to the top 

anchor plate on the AA101 Anchor 
Angle Assembly. 

MP110-6-C-WG/A 
6" Rubber 

Channel, Glue & 
Adapter Kit 

(8) 6" Rubber Channels 
(1) Loctite E-60 HP 50 mL Glue Cartridge 
(1) adapter (for use with a caulk gun) 
(1) mixing nozzle 

(1) application brush 

Previously MP110 
May be used to extend the length of 
existing 30" Rubber Channels on the 
underside of all diving board models.  

MP110-6-C-NG 6" Rubber 
Channel Set (8) 6" Rubber Channels 

May be used to extend the length of 
existing 30" Rubber Channels on the 
underside of all diving board models.  

MP112-30-C-WG/A 
30" Rubber 

Channel, Glue & 
Adapter Kit 

(8) 30" Rubber Channels 
(1) Loctite E-60 HP 50 mL Glue Cartridge 
(1) adapter (for use with a caulk gun) 
(1) mixing nozzle 
(1) application brush 

Previously MP112 
Used on all diving board models to 

eliminate metal to metal contact 
between the underside of the board 
and the footwheel and roller (long or 

short) on all diving stand models. 

MP112-30-C-
WG/NA 

30" Rubber 
Channel & Glue 

Kit 

(8) 30" Rubber Channels 
(1) 50 mL cartridge of Loctite E-60HP glue 
(1) mixing nozzle 
(1) application brush 

Previously MP112B 
Used on all diving board models to 

eliminate metal to metal contact 
between the underside of the board 
and the footwheel and roller (long or 

short) on all diving stand models. 



Page | 17 
 

MP112-30-C 30" Rubber 
Channel Set (8) 30" Rubber Channels  

Previously MP112C 
Used on all diving board models to 

eliminate metal to metal contact 
between the underside of the board 
and the footwheel and roller (long or 

short) on all diving stand models. 

MP115 Glue & Adapter 
Kit 

(1) Loctite E-60 HP 50 mL Glue Cartridge 
(1) adapter (for use with a caulk gun) 
(1) mixing nozzle 
(1) application brush 

Previously MP115A 

MP115-NA Glue Kit 
(1) Loctite E-60 HP 50 mL Glue Cartridge 
(1) mixing nozzle 
(1) application brush  

Previously MP115B 

PM108L Left Corner 
Piece (1) Left Corner Piece 

Used on the left tip-end corner on all 
diving board models manufactured 

after 1975. 

PM108R Right Corner 
Piece (1) Right Corner Piece 

Used on the right tip-end corner on 
all diving board models 

manufactured after 1975. 

PM112 Rubber 
Grommet (1) Rubber Grommet 

Used to plug the hole located at the 
front, tip-end of all diving board 

models. Boards manufactured prior 
to 1975 have three holes. 

P167 Calibration Strip (1) Calibration Strip 

Adhesive label, marked with number 
1-9, that is applied to all diving board 

models. Used as a guide when 
adjusting the position of the 

footwheel and roller (long or short) 
on all diving stand models. 

 

 

      

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

   



Page | 18 
 

Diving Board Accessories   

 

     

Product # Name Includes  Additional Information 

10040 Board Cover (Black) Board Cover  
Available for only 16ft boards to 

protect the skid resistant surface. 
Product ships separately. 

10042 Board Cover (Shale Gray) Board Cover 
 

Available for only 16ft boards to 
protect the skid resistant surface. 

Product ships separately.  
 

 

 
 
 
 


